Estimating a Population Proportion
1. True or False. Suppose a 95% confidence interval for the population proportion of adults in Johnson City who favor the Pharmacy School is (0.55, 0.65). The inference you can be 95% confident that the sample proportion falls between 0.55 and 0.65.

2. In 2000, the General Social Survey (GSS) asked subjects whether they would be willing to pay much higher taxes in order to protect the environment. Of n = 1167 respondents, 369 indicated a willingness to do so. Find a 95% confidence interval for the population proportion of adult Americans willing to do so when the survey was conducted.  Interpret your result.

3. In 2000, the GSS asked subjects whether every time we use coal or oil or gas, we contribute to the greenhouse effect.  Of n = 1028 respondents, 742 indicated that it was true. Find a 95% confidence interval for the population proportion of adult Americans that feel that we contribute to the greenhouse effect every time we use coal or oil or gas when the survey was conducted. Interpret your result.
4. The GSS is now considering a new survey of adult Americans on their opinion of the greenhouse effect. They want a 95% confidence interval to have a margin of error of 0.01.
a. Find the necessary sample size if they expect results similar to those found in 2000.

b. Suppose that in determining the sample size, they use the safe approach that sets p*=0.5 in the formula for n. How many adults need to be sampled?

